ﬂé‘ Division Word Problems (1 Digit Quotient) Name:
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Tom is helping to put away books. If he has twenty books to put away and each shelf can
hold four books how many shelves will he need?

There are forty-eight students in the school band. If the band instructor put the students into

how many vans will they need?

many tables do they need?

how many stacks could she make?

many times could you ride it?

need?

many cars are there?

many bags will she need?

him?

Answers

rows with eight students in each row, how many rows could he make? 2.
There are fifteen students going on a field trip. If each school van can hold three students, 3.
4,
A pet store had forty-eight snakes. They had the snakes in cages with eight snakes in each
cage. How many cages did the pet store have? s
There are twenty-five people attending a luncheon. If a table can hold five people, how
6.
Faye had seventy-two video games. If she put them into stacks with eight in each stack, 7.
8.
Sarah had to complete thirty-six homework problems. If each page has nine problems on it,
how many pages does she have to complete? 9
Dave was playing the ring toss at the carnival. All together he used ten rings. If each game
you get five rings, how many games did he play? 10.
The roller coaster at the state fair costs four tickets per ride. If you had twenty tickets, how 11.
12.
A vase can hold nine flowers. If you had twenty-seven flowers, how many vases would you
13.
Bianca's dad was taking everyone out to eat for her birthday. He paid twenty-four dollars
for everyone. If each meal cost four bucks, how many people went? 14.
An architect was building a hotel downtown. He built it with sixty-four rooms total. If there || 15.
are eight rooms on each story how many stories tall is the hotel?
At the fair the roller coaster can hold twelve people total. If each car has six seats, how
Vanessa needs to buy twelve apples for apple bobbing. If each bag contains six apples, how
Kaleb had sixteen bottles of water. If he drank two each day how many days would they last
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